Geometry - Ch 4 - Conguence Proofs November 20, 2015

HW #4 - Due Fri, Dec 4
Ch 4 Review Problems pp.176-180 #7-36, 48,51,52

Khan Academy exercises: "Congruence"

4.4 - Congruence Proofs 2. Why is AD=DC? m,id Po°l f\“':' D o ivid es

AC iato two equol post s
3. Why are ~1 and .2 right angles?

perpendiculas lines faem ris‘vd' 01:7\2.5
4. Why is £1= 27

ol right mg\es are eq'ual

5. Why is BD=BD?

B A reflexive pro pex'{:j of ezanH\a,

j 6. Why is AABD=ACBD?

S perpendicilay SAS Coﬁaruw\(.e_,

7. Why is ,BAD=/BCD?

Co(‘rez?on&ﬂ parts of
CconNg ruent -Mor\a% are equak-

>

Given: D is the midpoint of AC
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B

7

)

D

Given: z1= /2

+<ABD=,CBD

D

Given: BA=BC
BD bisects ,/ABC

9. Why is BD=BD?

ref lexive {7"0{?0‘43 of e{"‘ﬁ'%

10. Why is AABD=ACBD?
AsA Cong LRNCR.
11. Why is BA=BC?

CocCres Pond.r\g PW'\'S ot
Conﬂ(\ﬁ/\'l" 'Lr.\M‘j\K_S

e e,(Lua,Q

13. Why is LABD-,CBD? D15€Ctoc BD AIvid¢s
srgle ABC ik o equnl fmr+5

14. Why is BD=BD? )
CeFlexive prope *‘3 of @‘[J"Q‘h)
15. Why is AABD=ACBD?
SAS <o (uen O
16.Whyisgl=42?é\ \s o’\:'
cocreg pond N )
on %;e/\.-\— j*%\rea N’E-Q%V"S(

17. 1t 21 and ,2 are a linear pair, why is BD | AC?

equal a/‘j(z-s N oo li/u?o\r;ow/‘
el '
(s PR N S
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What is wrong with this proof?

A B
Given: DB bisects ~/ADC
C <A and /DBC are right angles.

Prove: AADB=ABDC

Proof:

Statements Reasons

D 1. DB bisects /ADC Given.
2. z/ADB=/BDC If an angle is bisected, it is
divided into two equal angles.
3. BD=BD Reflexive.
4. #A and #/DBC are
right angles Given

5. zA=,DBC All right angles are equal.

D What is wrong with this proof?
Given: DB=DC
Prove: AB=AC
Proof:
Statements Reasons
1. DB=DC Given

A .
P B C 2. AD=AD Reflexive

3. «DAB=/DAC Reflexive

4. ADAB=ADAC @\
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4.5 — Isosceles and Equilateral Triangles

Definitions: A triangle is

o scalene iff it has no equal sides

o isosceles iff it has at least two equal sides
« cquilateral iff all of its sides are equal

» obtuse iff it has an obtuse angle

« right iff it has a right angle

« acute iff all of its angles are acute

» equiangular iff all of its angles are equal Isos;:ieles
Isosceles & obtuse right

Equilateral & acute Scalene & acute
Tsosceles

&
acute

Scalene & obtuse Scalene & right

C

Theorem 9: If two sides of a triangle are equal, the angles opposite them are equal.

Given: In ABCD, BD=CD
Prove: ,.C=4B

Proof: P
Statements Reasons

1.InABCD,BD-CD (S, \/O\ %
2. =D reflexive

3.CD=BD Given

4. ABCD=ACBD SA‘S cpnaﬂjel\(ﬂ/

e Ce(‘resfor*é: por ks
of Cd(\a AS m?‘bp C

J
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Theorem 10: If two angles of a triangle are equal, the sides opposite them are equal.

Corollaries to Theorems 9 and 10:
An equilateral triangle is equiangular.

An equiangular triangle is equilateral.

A In AABC, AB=AC; AD=AE.
7. What kind of triangle is AABC?
)SoscelesS

. Why i = 7
o Bc( L o A are equet, o
\es RPos,+ Hum are CQV'"(

e \
9. What angle®lo AACD and AABE have in common?

E LA =LAk (4phc :46#45)

10. Why is AACD=AABE?

SAS ey

lltvglyrics-;zﬁ;?nt): @m\—é o€ (a0 ek
A‘se mﬂeﬁztudfk N
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